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@ &1 Zujdut S2h7 2l go| S0t YSeHIE 2l AS 4 USLICH

m XAOH

@D 7tA RE2 20~25 0 /min(2)0| ML Ct,
S40] 2m/sec 0|40l AL HIZEO0|E SHFMAIRL.

@ 2Lt EZtAE= 15~25mE SX|eh FAAL,

@ET YU AL0| 2 LZEQ 2 N2FE2 UKl Hotod ol
(50~150C)0| HEtL|Ct,

n EAFL0| stEHEE | UH|(%) (RS7HA:CO2)
C Si Mn P s Ni Mo
06 | 0.65 | 1.60 | 0.014 | 0.012 | 0.89 | 0.16

n EXFL9 J|AH YR L (RSTtA:CO2)

g=Z4T AHZE HMg 4z W)
N/mn* (kgf/m) N/mn* (kgf /i) % -20C -30C
584 (59.6) 693 (70.7) 24 56 47

HE TN HZ(m) 1.2 1.4 1.6

".J%*.':*?—I(A)‘ Stel(Flat), +HZE(H-F) |  180~340 200~360 200~400




